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Total Synthesis of (t)-Hippolachnin A

0 0O
(o) OH KH,PO4, H,0O
)~
reflux, 2 d 6
OH OH
1 2 (£)-3

1) Give the mechanism for the formation of 4-hydroxycyclopent-2-enone 2 from furfuryl alcohol 1. Explain the
stereochemistry of the product (+)-37?

0 o 0 | OH
b& TBDMSCI f/ 5 I, pyridine, DCM I \Ii/f 5 ? m

= ¢  EtN,DMAP L% L6 PR

OH OTBDMS OTBDMS OTBDMS

(#)-3 4 5 6

cis/trans 1:1

|

(CHsCN),PdCl, A e
AsPhs, Cul, NMP 0
7

2) Give the mechanism for the formation of 5 from 4.
3) Give the missing reagent for the transformation of 5 to 6. What is the name of this reaction?

4) What is the structure of the final product 8 and the corresponding mechanism? What is the name of
this reaction?
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5) Give the structure 10 and explain the relative stereochemistry. What are the missing conditions and
reagents for the formation of 11 from ()-9?

6) What are the reagents for the formation of 12 from 11?
7) Give the the structure of the final product 14 and the corresponding mechanism.



1) Give the mechanism for the formation of 4-hydroxycyclopent-2-enone from furguryl alcohol.
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2) Give the mechanism for the formation of 5 from 4.

3) Give the missing reagent for the transformation of 5 to 6. What is the name of this reaction?
4) What is the structure of the final product 14 and the corresponding mechanism? What is the name of

this reaction?
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5) Give the structure 10 and explain the relative stereochemistry. Give the missing conditions and reagents for the
formation of 11 from (*)-9?
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6) What are the reagents for the formation of 12 from 11?
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7) Give the the structure of the final product 14 and the corresponding mechanism.
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